

ON A NUMERICAL SOLUTION OF THE
TWO-DIMENSIONAL FREDHOLM INTEGRAL EQUATION
OF THE SECOND KIND

G. KARKARASHVILI

ABSTRACT. For a two-dimensional Fredholm integral equation of the second kind the problems of belonging of the exact solution to the Sobolev-Slobodetskii spaces are considered. The corresponding mesh scheme is constructed and the rate of convergence of an approximate solution to an averaged exact solution is estimated.

რეზიუმე. ფრედჰოლმის მეორე კვარის ორგანზომილებიანი ინტეგრალური განტოლებისათვის შესწავლილია ამონხნადობის საკითხი სობოლევ-სლობოდეტსკის სივრცეებში. აგებულია შესაბამისი სხვაობანი სქემა და შეფასებულია ცდომილება გაშუალებულ ზუსტსა და მიახლოებით ამონახსნებს შორის.

INTRODUCTION

A great many problems of mathematical physics and engineering are reduced to the solution of linear and nonlinear integral equations. One can manage to find an exact solution of an integral equation analytically only in some individual cases, therefore the methods of approximate solution of integral equations do not give rise to doubts. Mesh schemes of numerical solution of integral and integro-differential equations with non-smooth input data in Sobolev spaces have been studied in [1-7].

In the present work we consider the two-dimensional Fredholm integral equation of the second kind. The sufficient conditions are established under which the exact solution $u(x)$ belongs to the Sobolev-Slobodetskii spaces. An a priori estimate of the solution is obtained.

The mesh schemes are constructed by means of special averaging the kernel and the right-hand side. It is proved that the rate of convergence of an approximate solution to an averaged exact solution is equal to h^m for $u \in W_2^m(\Omega)$, $0 \leq m \leq 2$.

2000 *Mathematics Subject Classification.* 54E55.

Key words and phrases. Bitopological space, pairwise open and pairwise closed sets, almost (i, j) -Baire space, (i, j) -locally compact space, finally compact space.

1. NOTATION AND AUXILIARY RESULTS

In this section we introduce the notation and present the results which will be necessary for our further exposition [10-11].

Let R^2 be a two-dimensional Euclidean space of points $x = (x_1, x_2)$, $x' = (x'_1, x'_2), \dots$ with the distance

$$|x - x'| = ((x_1 - x'_1)^2 + (x_2 - x'_2)^2)^{1/2}.$$

By Ω we denote the unit square in R^2 :

$$\Omega = \{x = (x_1, x_2) : 0 < x_\alpha < 1, \quad \alpha = 1, 2\}.$$

The use will be made of the notation

$$D^\gamma \equiv \frac{\partial^{|\gamma|}}{\partial x_1^{\gamma_1} \partial x_2^{\gamma_2}},$$

where $\gamma = (\gamma_1, \gamma_2)$ is a multi-index, $\gamma_1, \gamma_2 \geq 0$ are integers, $|\gamma| = \gamma_1 + \gamma_2$.

$W_2^m(\Omega)$ denotes the Sobolev-Slobodetskii space. For integers $m \geq 0$, the norm in $W_2^m(\Omega)$ is given by the formula

$$\|u\|_{W_2^m(\Omega)} = \left(\sum_{s=0}^m |u|_{W_2^s(\Omega)}^2 \right)^{1/2},$$

where

$$|u|_{W_2^s(\Omega)} = \left(\sum_{|\gamma|=s} \|D^\gamma u\|_{L_2(\Omega)}^2 \right)^{1/2}.$$

For $m = \bar{m} + \alpha$, where \bar{m} is an integer and $0 < \alpha < 1$,

$$\|u\|_{W_2^m(\Omega)} = \left(\|u\|_{W_2^{\bar{m}}(\Omega)}^2 + |u|_{W_2^m(\Omega)}^2 \right)^{1/2},$$

where

$$\|u\|_{W_2^m(\Omega)} = \left(\sum_{|\gamma|=m} \int_{\Omega} \int_{\Omega} \frac{|D^\gamma u(x) - D^\gamma u(y)|^2}{|x - y|^{2+2\alpha}} dx dy \right)^{1/2}.$$

We will also consider an anisotropic Sobolev-Slobodetskii space $W_2^{m,0}(\Omega \times \Omega)$. For integers m , the norm in $W_2^{m,0}(\Omega \times \Omega)$ is defined by the equality

$$\|K\|_{W_2^{m,0}(\Omega \times \Omega)} = \left(\sum_{s=0}^m |K|_{W_2^{s,0}(\Omega \times \Omega)} \right)^{1/2},$$

where

$$|K|_{W_2^{s,0}(\Omega \times \Omega)} = \left(\sum_{|\gamma|=s} \int_{\Omega} \int_{\Omega} |D_x^\gamma K(x, t)|^2 dx dt \right)^{1/2},$$

and for $m = \bar{m} + \alpha$, $0 < \alpha < 1$, \bar{m} is an integer,

$$\|K\|_{W_2^{m,0}(\Omega \times \Omega)} = \left(\|K\|_{W_2^{\bar{m},0}(\Omega \times \Omega)} + |K|_{W_2^{m,0}(\Omega \times \Omega)} \right)^{1/2},$$

where

$$|K|_{W_2^{m,0}(\Omega \times \Omega)} = \left(\sum_{|\gamma|=\overline{m}} \int_{\Omega} \int_{\Omega} \int_{\Omega} \frac{|D_x^\gamma K(x, \xi) - D_t^\gamma K(t, \xi)|^2}{|x-t|^{2+2\alpha}} dx dt d\xi \right)^{1/2}.$$

Introduce the notation $\omega_h = \{x_{ij} = (ih, jh), i, j = 1, 2, \dots, N-1, h = 1/N\}$ is the uniform mesh on Ω , where h is the step of the mesh ω_h , and x_{ij} is the node of the mesh ω_h .

For the mesh functions we use the notation

$$v_{ij} = v(ih, jh).$$

We introduce the mesh norm in $L_2(\Omega)$ on a two-dimensional mesh

$$\|v\|_{0,2,\omega_h} = \left\{ h^2 \sum_{i,j=1}^N (v_{i,j})^2 \right\}^{1/2}.$$

By $\|M\|$ is denoted the Euclidean norm of the matrix $M = (m_{ij})_{i,j=1}^n$,

$$\|M\| = \left(\sum_{i,j=1}^n m_{ij}^2 \right)^{1/2}.$$

2. STATEMENT OF THE PROBLEM AND ITS INVESTIGATION

Let us consider the two-dimensional Fredholm integral equation of the second kind

$$u(x) = \lambda \int_{\Omega} K(x, \xi) u(\xi) d\xi + f(x), \quad x \in \Omega, \quad (1)$$

where λ is the real parameter which is not a characteristic number.

It is known [8] that for $f \in L_2(\Omega)$ and $K \in L_2(\Omega \times \Omega)$ there exists the unique solution $u \in L_2(\Omega)$ of equation (1) for which the estimate

$$\|u\|_{L_2(\Omega)} \leq C \|f\|_{L_2(\Omega)} \quad (2)$$

is valid.

We prove the theorem on the smoothness of the solution of equation (1).

Theorem 1. *Let $f(x) \in W_2^m(\Omega)$, and the kernel satisfy the condition*

$$K \in W_2^{m,0}(\Omega \times \Omega).$$

Then the solution of equation (1) belongs to the class $W_2^m(\Omega)$ for which the estimate

$$\|u\|_{W_2^m(\Omega)} \leq C \|f\|_{W_2^m(\Omega)}, \quad 0 \leq m \leq 2. \quad (3)$$

is valid.

Proof. Consider the integral operator

$$Tu(x) = \int_{\Omega} K(x, \xi)u(\xi)d\xi.$$

and show that

$$\|Tu\|_{W_2^m(\Omega)} \leq \|K\|_{W_2^{m,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)}, \quad 0 \leq m \leq 2. \quad (4)$$

Indeed, for $m = a$, $\alpha \in (0, 1)$, we have

$$\begin{aligned} \|Tu\|_{W_2^a(\Omega)} &= \left\{ \int_{\Omega} \left(\int_{\Omega} K(x, \xi)u(\xi)d\xi \right)^2 dx + \right. \\ &+ \left. \int_{\Omega} \int_{\Omega} \frac{\left(\int_{\Omega} K(x, \xi)u(\xi)d\xi - \int_{\Omega} K(t, \xi)u(\xi)d\xi \right)^2}{|x-t|^{2+2\alpha}} dxdt \right\}^{1/2} \leq \\ &\leq \|K\|_{W_2^{a,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)}, \end{aligned}$$

but if $m = 1 + \alpha$, $\alpha \in (0, 1)$, then

$$\begin{aligned} \|Tu\|_{W_2^{1+\alpha}(\Omega)} &= \left\{ \int_{\Omega} \left(\int_{\Omega} K(x, \xi)u(\xi)d\xi \right)^2 dx + \right. \\ &+ \int_{\Omega} \left(\int_{\Omega} \frac{\partial K(x, \xi)}{\partial x_1} u(\xi)d\xi \right)^2 dx + \int_{\Omega} \left(\int_{\Omega} \frac{\partial K(x, \xi)}{\partial x_2} u(\xi)d\xi \right)^2 dx + \\ &+ \int_{\Omega} \int_{\Omega} \frac{\left(\int_{\Omega} K'_{x_1}(x, \xi)u(\xi)d\xi - \int_{\Omega} K'_{t_1}(t, \xi)u(\xi)d\xi \right)^2}{|x-t|^{2+2\alpha}} dxdt + \\ &+ \left. \int_{\Omega} \int_{\Omega} \frac{\left(\int_{\Omega} K'_{x_2}(x, \xi)u(\xi)d\xi - \int_{\Omega} K'_{t_2}(t, \xi)u(\xi)d\xi \right)^2}{|x-t|^{2+2\alpha}} dxdt \right\}^{1/2}, \end{aligned}$$

i.e.,

$$\|Tu\|_{W_2^{1+\alpha}(\Omega)} \leq \|K\|_{W_2^{1+\alpha,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)} = \|K\|_{W_2^{m,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)}.$$

However, if $m = 0, 1, 2$, estimate (4) becomes evident.

Next, from equation (1) it follows that

$$\|u\|_{W_2^m(\Omega)} \leq \|Tu\|_{W_2^m(\Omega)} + \|f\|_{W_2^m(\Omega)}. \quad (5)$$

Therefore, taking into account inequality (4), from (5) we obtain

$$\|u\|_{W_2^m(\Omega)} \leq \|K\|_{W_2^{m,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)} + \|f\|_{W_2^m(\Omega)}. \quad (6)$$

Substituting into (6) the obtained from (2) estimate

$$\|u\|_{L_2(\Omega)} \leq C\|f\|_{W_2^m(\Omega)}, \quad (7)$$

we get inequality (3).

Thus the theorem is complete. \square

3. CONSTRUCTION OF THE MESH SCHEME

We proceed to constructing the mesh scheme. Towards this end, we transform equation (1),

$$\begin{aligned} \frac{1}{h^2} \int_{\Omega_{il}} u(x) dx &= \frac{\lambda}{h^2} \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} (K(x, \xi) + \frac{1}{h^2} \int_{\Omega_{jk}} K(x, s) ds - \\ &- \frac{1}{h^2} \int_{\Omega_{jk}} K(x, s) ds) u(\xi) dx d\xi + \frac{1}{h^2} \int_{\Omega_{il}} f(x) dx, \quad i, l = 1, 2, \dots, N, \end{aligned}$$

and hence

$$\begin{aligned} \frac{1}{h^2} \int_{\Omega_{il}} u(x) dx &= \lambda \sum_{j,k=1}^N h^2 A_{il}^{jk} \left(\frac{1}{h^2} \int_{\Omega_{jk}} u(\xi) d\xi \right) + \\ &+ \frac{1}{h^2} \int_{\Omega_{il}} f(x) dx + \lambda R_{il}, \quad i, l = 1, 2, \dots, N. \end{aligned} \quad (8)$$

where

$$\begin{aligned} R_{il} &= \frac{1}{h^2} \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} (K(x, \xi) - \frac{1}{h^2} \int_{\Omega_{jk}} K(x, s) ds) u(\xi) dx d\xi, \\ A_{il}^{jk} &= \frac{1}{h^4} \int_{\Omega_{il}} \int_{\Omega_{jk}} K(k, s) dx ds, \quad i, j, l, k = 1, 2, \dots, N. \end{aligned}$$

Rejecting the residual, we reduce expression (8) to the linear algebraic system

$$v_{il} = \lambda \sum_{j,k=1}^N h^2 A_{il}^{jk} v_{jk} + \frac{1}{h^2} \int_{\Omega_{il}} f(x) dx, \quad i, l = 1, 2, \dots, N. \quad (9)$$

Subtracting now (9) from (8), for the error

$$z_{il} = \frac{1}{h^2} \int_{\Omega_{il}} u(x) dx - v_{il}, \quad i, l = 1, 2, \dots, N \quad (10)$$

we have

$$(I - A)Z = \lambda R, \quad (11)$$

where

$$Z = (z_1, \dots, z_N), \quad R = (R_1, \dots, R_N); \quad A = (\lambda h^2 B_{ij})_{i,j=1}^N,$$

but

$$z_i = (z_{i1}, \dots, z_{iN}); \quad R_i = (R_{i1}, \dots, R_{iN}); \quad B_{ij} = (A_{il}^j k)_{l,k=1}^N,$$

and I is the unit matrix.

The lemma below proves that the matrix $I - A$ is nondegenerated.

Lemma 1. *If the kernel $K(x, \xi)$ is symmetric and satisfies the condition*

$$|\lambda| \|K\|_{L_2(\Omega \times \Omega)} < 1, \quad (12)$$

then the matrix $I - A$ is nondegenerated, invertible, and the estimate

$$\|(I - A)^{-1}\| \leq \frac{1}{1 - q},$$

where $q = \|A\| < 1$, is valid.

Proof. The equality

$$\|A\|^2 = \sum_{i,l=1}^N \sum_{j,k=1}^N \lambda^2 h^4 (A_{il}^{jk})^2 = \sum_{i,l=1}^N \sum_{j,k=1}^N \frac{\lambda^2}{h^4} \left(\int_{\Omega_{il}} \int_{\Omega_{jk}} K(x, s) dx ds \right)^2$$

is true.

Using the Cauchy-Bunjakovskii's inequality, we have

$$\|A\|^2 \leq \sum_{i,l=1}^N \sum_{j,k=1}^N \lambda^2 \int_{\Omega_{il}} \int_{\Omega_{jk}} K^2(x, s) dx ds = \lambda^2 \int_{\Omega} \int_{\Omega} K^2(x, s) dx ds,$$

or, by means of the condition (12) we obtain

$$\|A\| < 1.$$

Thus by Theorem 7.1.1 (see [9], p. 195) we can prove the validity of Lemma 1. \square

As the corollary of the above lemma it follows that the problem (11) is uniquely solvable, and for its solution

$$\|Z\|_{0,2,\omega_h} \leq |\lambda| (1 - q)^{-1} \|R\|_{0,2,\omega_h}. \quad (13)$$

4. ERROR ESTIMATION

In this section we will estimate a discrete norm of the error (10) which is, in its turn, a solution of the system (11). The norm of the error $\|Z\|_{0,2,\omega_h}$ is estimated in the following two theorems.

Theorem 2. *Let the kernel $K(x, t)$ be symmetric and satisfy the condition (12). Moreover, let*

$$f \in W_2^\alpha(\Omega), \quad K \in W_2^{\alpha,0}(\Omega \times \Omega), \quad 0 < \alpha \leq 1.$$

Then the convergence of the mesh scheme (9) is characterized by the estimate

$$\|Z\|_{0,2,\omega_h} \leq Ch^\alpha |K|_{W_2^{\alpha,0}(\Omega \times \Omega)} \|f\|_{L_2(\Omega)}. \quad (14)$$

Proof. Let us estimate the norm $\|R\|_{0,2,\omega_h}$. To this end, we use the Cauchy-Bunjakovskii's inequality and obtain

$$\begin{aligned} \|R\|_{0,2,\omega_h}^2 &= h^2 \sum_{i,l=1}^N (R_{il})^2 = h^2 \sum_{i,l=1}^N \left\{ \frac{1}{h^2} \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} (K(x, \xi) - \right. \\ &\quad \left. - K(x, s))u(\xi) dx d\xi ds \right\}^2 \leq \frac{1}{h^6} \sum_{i,l=1}^N \left\{ \sum_{j,k=1}^N \left(\int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} (K(x, \xi) - \right. \right. \\ &\quad \left. \left. - K(x, s))^2 dx d\xi ds \right)^{1/2} \left(\int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} u^2(\xi) dx d\xi ds \right)^{1/2} \right\}^2. \end{aligned}$$

Applying now the Cauchy-Bunjakovskii's inequality for the sum, we find that

$$\begin{aligned} \|R\|_{0,2,\omega_h}^2 &\leq \frac{1}{h^6} \sum_{i,l=1}^N \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \frac{(K(x, \xi) - K(x, s))^2}{|\xi - s|^{2+2\alpha}} |\xi - s|^{2+2\alpha} dx d\xi ds \times \\ &\quad \times \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} u^2(\xi) d\xi \leq h^{2\alpha} \int_{\Omega} \int_{\Omega} \int_{\Omega} \frac{|K(x, \xi) - K(x, s)|^2}{|\xi - s|^{2+2\alpha}} dx d\xi ds \|u\|_{L_2(\Omega)}^2, \end{aligned}$$

or, taking into account the fact that the kernel $K(x, y)$ is symmetric,

$$\|R\|_{0,2,\omega_h} \leq h^\alpha |K|_{W_2^{\alpha,0}(\Omega \times \Omega)} \|u\|_{L_2(\Omega)}. \quad (15)$$

Substituting (15) into (13) and taking into account estimate (2), we obtain (14).

Thus the theorem is complete. \square

Theorem 3. *Let the kernel $K(x, t)$ be symmetric and satisfy the condition (12). Moreover, let*

$$f \in W_2^{1+\alpha}(\Omega), \quad K \in W_2^{1+\alpha,0}(\Omega \times \Omega).$$

Then the convergence of the mesh scheme is characterized by the estimate

$$\|Z\|_{0,2,\omega_h} \leq C_1 h^{1+\alpha} \|K\|_{W_2^{1+\alpha,0}(\Omega \times \Omega)} \|f\|_{W_2^{1+\alpha}(\Omega)}, \quad (16)$$

where $C_1 = |\lambda|(1-q)^{-1}2^{2+\alpha/2}$, $0 < \alpha \leq 1$.

Proof. We transform the residual of the system (8) and obtain

$$R_{il} = R_{il}^{(1)} + R_{il}^{(2)},$$

where

$$R_{il}^{(1)} = \frac{1}{h^6} \sum_{j,k=1}^N \int_{\Omega_{jk}} u(t) dt \int_{\Omega_{il}} \int_{\Omega_{jk}} (K(x, \xi) - K(x, s)) dx d\xi ds,$$

$$R_{il}^{(2)} = \frac{1}{h^6} \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} (K(x, \xi) - K(x, s))(u(\xi) - u(t)) dx d\xi ds dt.$$

Estimating the norm $\|R\|_{0,2,\omega_h}$, we find that

$$\|R\|_{0,2,\omega_h}^2 \leq 2h^2 \sum_{i,j=1}^N (R_{il}^{(1)})^2 + 2h^2 \sum_{i,l=1}^N (R_{il}^{(2)})^2. \quad (17)$$

In (17) we estimate $h^2 \sum_{i,l=1}^N (R_{il}^{(1)})^2$. Since the expression

$$K(x; \xi_1, \xi_2) - K(x; s_1, s_2) = K(x; \xi_1, \xi_2) - K(x; s_1, \xi_2) + K(x; s_1, \xi_2) - K(x; s_1, s_2) =$$

$$= \int_{s_1}^{\xi_1} \frac{\partial K(x; \rho, \xi_2)}{\partial \rho} d\rho + \int_{s_2}^{\xi_2} \frac{\partial K(x; s_1, \eta)}{\partial \eta} d\eta$$

is valid, we have

$$\int_{\Omega_{il}} \int_{\Omega_{jk}} (K(x; \xi) - K(x; s)) d\xi ds =$$

$$= \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left\{ \int_{s_1}^{\xi_1} \left(\frac{\partial K(x; \rho_1, \xi_2)}{\partial \rho_1} - \frac{1}{h} \int_{(j-1)h}^{jh} \frac{\partial K(x; \eta_1, s_2)}{\partial \eta_1} d\eta_1 \right) d\rho_1 + \right.$$

$$\left. + \int_{s_2}^{\xi_2} \left(\frac{\partial K(x; s_1, \eta_2)}{\partial \eta_2} - \frac{1}{h} \int_{(k-1)h}^{kh} \frac{\partial K(x; \xi_1, \rho_2)}{\partial \rho_2} d\rho_2 \right) d\eta_2 \right\} d\xi ds.$$

Here we use the obvious identity

$$\int_{\Omega_{jk}} \int_{\Omega_{jk}} \left(\int_{s_1}^{\xi_1} d\rho_1 \right) d\xi ds = \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left(\int_{s_2}^{\xi_2} d\eta_2 \right) d\eta ds = 0.$$

Consequently, we have

$$\begin{aligned}
& h^2 \sum_{i,l=1}^N (R_{il}^{(1)})^2 = \\
& = h^2 \sum_{i,l=1}^N \left(\frac{1}{h^6} \sum_{j,k=1}^N \int_{\Omega_{jk}} u(t) dt \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left[\frac{1}{h} \int_{s_1}^{\xi_1} \int_{(j-1)h}^{jh} \left(\frac{\partial K(x; \rho_1, \xi_2)}{\partial \rho_1} - \right. \right. \right. \\
& \quad \left. \left. \left. - \frac{\partial K(x; \eta_1, s_2)}{\partial \eta_1} \right) d\eta_1 d\rho_1 + \right. \right. \\
& \quad \left. \left. + \frac{1}{h} \int_{s_2}^{\xi_2} \int_{(k-1)h}^{kh} \left(\frac{\partial K(x; s_1, \eta_2)}{\partial \eta_2} - \frac{\partial K(x; \xi_1, \rho_2)}{\partial \rho_2} \right) d\xi_2 d\eta_2 \right] dx d\xi ds \right)^2 \leq \\
& \leq \frac{1}{h^4} \sum_{i,l=1}^N \left(\sum_{j,k=1}^N \int_{\Omega_{jk}} u^2(t) dt \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left(\int_{s_1}^{\xi} \int_{(j-1)h}^{jh} \left(\frac{\partial K(x; \rho_1, \xi_2)}{\partial \rho_1} - \right. \right. \right. \\
& \quad \left. \left. \left. - \frac{\partial K(x; \eta_1, s_2)}{\partial \eta_1} \right) d\eta_1 d\rho_1 + \right. \right. \\
& \quad \left. \left. + \int_{s_2}^{\xi_2} \int_{(k-1)h}^{kh} \left(\frac{\partial K(x; s_1, \eta_2)}{\partial \eta_2} - \frac{\partial K(x; \xi_1, \rho_2)}{\partial \rho_2} \right) d\rho_2 d\eta_2 \right)^2 dx d\xi ds \leq \frac{2}{h^2} \int_{\Omega} u^2(t) dt \times \\
& \times \sum_{i,l=1}^N \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left[\int_{s_1}^{\xi_1} \int_{(j-1)h}^{jh} \frac{(\frac{\partial K(x; \rho_1, \xi_2)}{\partial \rho_1} - \frac{\partial K(x; \eta_1, s_2)}{\partial \eta_1})^2}{|(\rho_1 - \eta_1)^2 + (\xi_2 - s_2)^2|^{1+\alpha}} |(\rho_1 - \eta_1)^2 + \right. \\
& \quad \left. + (\xi_2 - s_2)^2|^{1+\alpha} \right] d\eta_1 d\rho_1 + \\
& \quad + \int_{s_2}^{\xi_2} \int_{(k-1)h}^{kh} \left(\frac{(\frac{\partial K(x; s_1, \eta_2)}{\partial \eta_2} - \frac{\partial K(x; \xi_1, \rho_2)}{\partial \rho_2})^2}{|(s_1 - \xi_1)^2 + (\eta_2 - \rho_2)^2|^{1+\alpha}} |(s_1 - \xi_1)^2 + \right. \\
& \quad \left. + (\eta_2 - \rho_2)^2|^{1+\alpha} d\eta_2 d\rho_2 \right) dx d\xi ds,
\end{aligned}$$

i.e.,

$$\begin{aligned}
h^2 \sum_{i,l=1}^N (R_{il}^{(1)})^2 & \leq 2^{2+\alpha} h^{2+2\alpha} \int_{\Omega} u^2(t) dt \int_{\Omega} \int_{\Omega} \int_{\Omega} \left\{ \left(\frac{\partial K(x; \xi)}{\partial \xi_1} - \frac{\partial K(x; s)}{\partial s_1} \right)^2 + \right. \\
& \quad \left. + \left(\frac{\partial K(x; \xi)}{\partial \xi_2} - \frac{\partial K(x; s)}{\partial s_2} \right)^2 \right\} |\xi - s|^{-2-2\alpha} dx d\xi ds.
\end{aligned}$$

Taking into account the fact that the kernel is symmetric, we finally obtain

$$h^2 \sum_{i,j=1}^N (R_{il}^{(1)})^2 \leq 2^{\alpha+2} h^{2+2\alpha} \|K\|_{W_2^{1+\alpha,0}(\Omega \times \Omega)}^2 \|u\|_{L_2(\Omega)}^2. \quad (18)$$

Estimate now $h^2 \sum_{i,l=1}^N (R_{il}^{(2)})^2$. Applying here the Cauchy-Bunjakovskii's inequality, we arrive at

$$\begin{aligned} h^2 \sum_{i,l=1}^N (R_{il}^{(2)})^2 &\leq \frac{1}{h^{10}} \sum_{i,l=1}^N \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} (K(x, \xi) - K(x; s))^2 dx d\xi ds dt \times \\ &\quad \times \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} (u(\xi) - u(t))^2 dx d\xi ds dt \leq \\ &\leq \frac{1}{h^4} \sum_{i,l=1}^N \sum_{j,k=1}^N \int_{\Omega_{il}} \int_{\Omega_{jk}} \int_{\Omega_{jk}} \frac{(K(x; \xi) - K(x; t))^2}{|\xi - t|^{2+2\alpha}} |\xi - t|^{2+2\alpha} dx d\xi dt \times \\ &\quad \times \sum_{j,k=1}^N \int_{\Omega_{jk}} \int_{\Omega_{jk}} (u(\xi) - u(t))^2 d\xi dt \leq \\ &\leq \frac{2^{1+\alpha}}{h^4} h^{2+2\alpha} \int_{\Omega} \int_{\Omega} \int_{\Omega} \frac{(K(x, \xi) - K(x; t))^2}{|\xi - t|^{2+2\alpha}} dx d\xi dt \times \\ &\quad \times \sum_{j,k=1}^N \int_{\Omega_{jk}} \int_{\Omega_{jk}} (u(\xi) - u(t))^2 d\xi dt. \end{aligned} \quad (19)$$

In inequality (19) we transform the difference $u(\xi) - u(t)$ for which we have

$$u(\xi) - u(t) = \int_{t_1}^{\xi_1} \frac{\partial u(\eta, \xi_2)}{\partial \eta} d\eta + \int_{t_2}^{\xi_2} \frac{\partial u(t_1, \rho)}{\partial \rho} d\rho.$$

Hence (19) yields

$$\begin{aligned} h^2 \sum_{i,l=1}^N (R_{il}^{(2)})^2 &\leq \frac{2^{1+\alpha}}{h^4} h^{2+2\alpha} \int_{\Omega} \int_{\Omega} \int_{\Omega} \frac{(K(x; \xi) - K(x; t))^2}{|\xi - t|^{2+2\alpha}} dx d\xi dt \times \\ &\quad \times \sum_{j,k=1}^N \int_{\Omega_{jk}} \int_{\Omega_{jk}} \left(\int_{t_1}^{\xi_1} \frac{\partial u(\rho_1, \xi_2)}{\partial \rho_1} d\rho_1 + \int_{t_2}^{\xi_2} \frac{\partial u(t_1, \eta_2)}{\partial \eta_2} d\eta_2 \right)^2 d\xi dt \leq \end{aligned}$$

$$\leq 2^{2+\alpha} h^{2+2\alpha} \int_{\Omega} \int_{\Omega} \int_{\Omega} \frac{(K(x, \xi) - K(x; s))^2}{|\xi - s|^{2+2\alpha}} dx d\xi ds \times \\ \times \sum_{j,k=1}^N \int_{\Omega_{j,k}} \left(\left(\frac{\partial u(\xi)}{\partial \xi_1} \right)^2 + \left(\frac{\partial u(\xi)}{\partial \xi_2} \right)^2 \right) d\xi,$$

i.e.,

$$h^2 \sum_{i,j=1}^N (R_{ij}^{(2)})^2 \leq 2^{2+\alpha} h^{2+2\alpha} \|K\|_{W_2^{\alpha,0}(\Omega \times \Omega)}^2 |u|_{W_2^1(\Omega)}^2. \quad (20)$$

Using estimates (18) and (20), inequality (17) is transformed into

$$\|R\|_{0,2,\omega_h} \leq \\ \leq 2^{\frac{\alpha+3}{2}} h^{1+\alpha} \left\{ \|K\|_{W_2^{1+\alpha,0}(\Omega \times \Omega)}^2 \|u\|_{L_2(\Omega)}^2 + \|K\|_{W_2^{\alpha,0}(\Omega \times \Omega)}^2 |u|_{W_2^1(\Omega)}^2 \right\}^{1/2}. \quad (21)$$

Therefore if we take into account estimates (3) and (21), then from (13) we obtain (16).

The theorem has been proved. \square

REFERENCES

1. G. S. Karkarashvili, Solution of a nonlinear integral equation of Hammerstein type. (Russian) *Soobshch. Akad. Nauk Gruzin. SSR* **122**(1986), No. 1, 37–40.
2. G. S. Karkarashvili, Numerical solution of Fredholm type integro-differential equation. (Russian) *Proc. XI Conf. Math. Higher Educational Institutions of the Georgian SSR (May 28–30)*, 287–288, *Kutaisi*, 1986.
3. G. S. Karkarashvili, Solution of nonlinear integral equations with a monotone operator. (Russian) *Rep. Enlarged Sess. Semin. I. Vekua Inst. Appl. Math.* **2**(1986), No. 3, 61–64.
4. G. S. Karkarashvili, An integro-differential equation of Fredholm type. (Russian) *Vychisl. Prikl. Mat. (Kiev)*, No. 64 (1988), 8–16; English transl.: *J. Soviet Math.* **66**(1993), No. 3, 2236–2242.
5. V. L. Makarov and G. S. Karkarashvili, Difference schemes for integral equations with nonsmooth solutions. (Russian) *Soobshch. Akad. Nauk Gruzin. SSR* **120**(1985), No. 3, 493–496.
6. V. A. Makarov and G. S. Karkarashvili, On the solution of integral equations of the second kind with a monotone operator. (Russian) *Proc. of the 2nd Republ. Conf. Integral Equations in Applying Modelling*, 147–148, *Kiev*, 1986.
7. V. A. Makarov and G. S. Karkarashvili, Solution of integral equations in fractional Sobolev spaces. (Russian) *Vychisl. Prikl. Mat. (Kiev)*, No. 63 (1987), 3–19; English transl.: *J. Soviet Math.* **66**(1993), No. 2, 2125–2138.
8. P. P. Zabreiko, A. I. Koshelev, M. F. Krasnosel'skii, S. G. Mikhailin, F. S. Ravovich, V. Ya. Stetsenko, *Integral equations*. *Nauka, Moscow*: 1968.
9. P. Lancaster, *Theory of matrices*. (Russian) English transl.: *Nauka, Moscow*, 1978.
10. A. A. Samarskii, *Introduction to the theory of difference schemes*. (Russian) *Nauka, Moscow*, 1971.

11. A. A. Samarskii, R. D. Lazarov and V. L. Makarov, Difference schemes for differential equations with generalized solutions. *Vishchaia Shkola, Moskou*, 1987.

(Received 26.07.2005)

Author's address:

A. Razmadze Mathematical Institute,
Georgian Academy of Sciences,
1, M. Aleksidze St, 0193 Tbilisi
Georgia